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, , ,  and x y z t

2 2 ,
v

a t x
c v

t � �¢= -� �-� �
2

2 2 2 2 for ,  he got ;  
x x v c

t ac x a x
c v c c v c v c v

x
t x x

¢ ¢� �¢ ¢= = = - =� �- - - -� �

( , , , )k x h z t
He defined  in .x x vt K¢= -.K

 with ,  
x

t
c v

¢

-
since the  term is  embedding Here lies  in i  the tt r c. i k!x t¢
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( )2
2 2 2 2,  to get .

v a
a t x c t vx

c v c v
t t� �¢= - = -� �- -� �

2

2 2
which will yield Einstein's equation  if and only if

c
a x

c v
x ¢=

-

 with its value x x vt¢ -

Now, for ;    or  . Hence the above 
x x vt x

t t
c c v c v c
x

t
¢ -

= = = =
- -

2 2

2 2 2 2equation yields ;  
a c x ac vx

vx x
c c v c c v c
x

x
� � � �= - � = -� �� �- - � �� �

the term  is arbitrarily replaced with , i.e. by randomly using  
x

t
c

 in the second term, which results in 0 1,  as shown earlier! x ct= =
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Furthermore,  expression can be written as .
( ) ( )

x v
a t

c v c v
t t

¢� �
= -� �- +� �

Which leads to 1  and 1 ,  
v v

ct t
c c

x g t g� � � �= - = -� � � �
� � � �

 and ,  which results in 0 1 as shown earlier!   x ct cx t= = =

And for /  ( ) we have ,
( )

x tv
c c t ac t

c v c v
t x x t x

¢ � �
= = = � = -� �- +� �

( )
2

2 2
2 2

instead of .  1/ 1  as turned out to be.
c

a x a v c
c v

x g¢= = = -
-

x x vt¢= -
2 2 2( )ac x c vx ¢= -

instance yields  for 0 (a time-dependent )!vt xx g x= - =
( ),  which, forx vtx g= -
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( )
   

1

x x vt

v
t t

c

g

g

¢� 	= -

 

� �� �¢= -� �
 


� �
 �

2 

2

1

1
v
c

g =

-

( ),x ct x ct¢ ¢= Û =

2 2 2For ,  or  ; y ct y c t¢ ¢ ¢ ¢= =

ct
,y y¢

vt

we have  
2 2 2 2 2,  and vice versa.y c t v t= -
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2 2' ,  or  'y y y y= =

2
2 2 2 2 2 2

21
v t

c t c t v t t t t
c g

¢ ¢ ¢= - � = - � =

:t¢

0 ( 1) and '.v t tg= = =

2 2 2 2 2 2 2 2(  )y c t y c t v t¢ ¢= Û = -

1 ,
v

t t
c

g � �¢= -� �
� �
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